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1.Although samples are usually representative of the populations from which they are selected, you should
not expect a sample statistic to be exactly equal to the corresponding population parameter. The natural
differences that exist between statistics and their parameters is known as
a. statistical error b. inferential error c. sampling error  d. standard error

2.What is the shape of the distribution for the followiﬁg set of data?
Scores: 1,2,2,2,2,3,3,4,5,6
a. symmetrical b, positively skewed c. negatively skewed d. cumulative

3.In a negatively skewed distribution of exam scores, Tom scored at the mean, Mary scored at the median,

and Jane scored at the mode. Who had the highest score?
a. Tom b.Mary c.Jane d.cannotbe determined from the information given

4.A population has SS = 30 and Variance= 6. How many scores are in the population?
a.N=5 b.N=6 c¢.N=180 d.cannot be determined

5.A z-score of z = -2.00 indicates a position in a distribution
a. above the mean by 2 points
b. above the mean by a distance equal to 2 standard deviations
c. below the mean by 2 points
d. below the mean by a distance equal to 2 standard deviations

6.A vertical like is drawn through a normal distribution at z = +0.25. The line separates the distribution into
two sections and the smaller section corresponds to of the whole distribution.

a.25% b.40.13% ¢ 59.87% d.75%

7. The distribution of sampie means
a. is always normal
b. is normal only if the population distribution 1s normal
c. is normal only if the sample size is greater than 30
d. None of the other 3 choices is correct.

8.In general, increasing the alpha level (for example from .01 to .05) will
a. increase the likelihood of rejecting the null hypothesis
b. decrease the likelihood of rejecting the null hypothesis
c. increase the standard error
d. decrease the standard error

9, The magnitude of the estimated standard error is
a. directly related to sample variance and directly related to sample size
b. directly related to sample variance and inversely related to sample size
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c. inversely related to sample variance and directly related to sample size
d. inversely related to sample variance and inversely related to sample size

10.The homogeneity of variance assumption states that
a. the two sample variances are equal
b. the two samples come from the same population
¢. variance must stay constant for each subject in the experiment

d. the samples come from populations with equal variance
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1. One way to reduce the risk of a Type I error is to lower the alpha level.

2. If a specific sample leads to rejecting the null hypothesis with Alpha= .05, then the same sample would
also lead to rejecting the null hypothesis with Alpha=.01.

3. Assuming all other factors are held constant, t statistics tend to be more vanable than z-scores.

4. With a repeated-measures design, it is possible to evaluate the difference between two treatments using

only one sample of subjects.
5. Usually, it would be inappropriate to use estimation after a hypothesis test where the decision was to reject

the null hypothesis.
6. A research report states that there are "significant differences between treatments with
F(2, 27) = 5.36, p < .05." Based on this report, you can conclude that the decision from the ANOV A was to

reject the null hypothesis.
7. If the Y intercept is positive, then the regression equation will have a positive slope.
8 The chi-square test for independence requires that each individual be categorized on two separate variabies.
9. A correlation of r = +0.68 will result in more accurate predictions than a situation where r =-0.95.
10. When there are more than two treatments in an ANOV A, rejecting the null hypothesis means that all of

the treatment means are significantly different from each other.
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1. Criterion Validity

2. Pretest Sensitization
3. Social Interpretations
4, Informed Consent

5.
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